The "other" variations of C and RC

April-21-13
12:01 PM

Property 9.6. ad, is the infinitesimal version of both C, and RC,. Namely, if év is an
infinitesimal, then C*' = RC® = 1 + ad,{67}.

We omit the easy proof of this property and move on to 6C) and dRC7:
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Proof.  Substitute a and §3 into Equation (12) and get RCY™ %) — poe j RCIPITE
and hence using Property 9.6 for the infinitesimal 63 J RCS and Lemma 9.4 with da = 8 =0
on beh(a,d3),
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Lemma 9.7. o0C! = ad, {5’1’ ;f(

and SRCY = RCY [/ ad, {5 ) ——
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Now replacing & — + and 68 — 47 & , we get the equation for 0 RC). The equation
for 6C7. now follows by taking the mrlatmn of 7 T RC7 = Id.
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